Left, Front and Back
Upright Panel {x3}

Assembly Instructions

Right Upright o
Panel {x1) Connecting Strip (x4)
" e .
P . .

Lok (x1)

Serewdriver (x1) |

Allen head screws M6*10 (x24)

g

Allen head screws M3=10 (x8)

Base panel [x1}

Match hinge (x2)

Door {x1)

Nut [x8)

pd

)

ae oot 7

Stepl

Connect the door, upright
panel, and metal hinges
with M3*10 (x8} screws and
nuts (x8}. Attach the lock to
the door.

21h Y

)

'

- .
s

i 4 s /
N
Step 2
loin the front and back upright
panels to the right upright panel by
attaching the connecting strips (x2)

with M6*10 (x4) screws in the "A”
locations.

{Do NOT attach screws to the “B”
lacations at this time.)

My

<.
I

-

a

e
Step3 ‘

Repeat Step 2 for the left upright
panel.

. e

e ¥
Step 4
Attach the top cover (donation
slat) to the body using M6* 20 {x8)
screws in the corresponding “B”

locations.

\ _ ///‘

Step 5

Flip the assembly over and
attach the bottom cover using
ME*10 (x8) screws in the
correspanding “8” locations.



Installing Lock Instructions

Step 2: Place Lock Inside Pre-Drilled Hole




Step 3: Screw Bolt onto the Inside of the Lock

Step 4: Add Pin




Step 5: Add Bolt

Step 6: Screw Together




Step 7: Lock Door




	Step 1: Unscrew_EEU0uWAFqVrdolqVwrBT*Q: 
	Step 2: Place Lock Inside Pre-_VGO81vOKB4kItXispZ8gHw: 
	Step 3: Screw Bolt onto the In_SpMlvVJOqnpVX6pFCqcdQw: 
	Step 4: Add Pin_nSC*JeuO1oq5U177caya2w: 
	Step 5: Add Bolt_xnc2T-bgNGvYJZhJCt0*2A: 
	Step 6: Screw Together_R99Q7Jh*YTX6CCrShjPfIw: 
	Step 7: Lock Door_pUemnoZHKqiJBLOpxozIUQ: 
	fc-int01-generateAppearances: 


